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64. Choose the correctorder of words :
¥4l : Where do you live ?

65. Which one of the following words is a noun ?
¥diél : knowledge

66. Supply the correct pronoun.
Sachin and Radha have a house. ............... house is quite big.

¥di4l : Their
67. The word ‘approve’ is opposite in meaning to ...............

¥qloi : reject

68. s sun shines very brightly in summer.
¥dlol : The

69. Would you like ............... jam on your bread.
ydle : little

70.  Which one is synonym word of ‘Drought’
¥dlol : dryness
71.  Which spelling from below is right ?

%dlo : maintenance
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72. Which part of the sentence below is incorrect ?
Atable’s legs Were broken bymy angrybrother
@ (2) 3) 4)
el : (1) 21+ (2) o Hi~y

73. The number of the buses................ increasing.
ydlo ;s

74. Ifhe............... hard, he will Pass.
¥dlel : works

75. Which one is Passive Voice of ‘I have called her’

dlot : She has been called by me.
[
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Which is material noun ?
¥alol : Mercury
Itisyour ...............
¥alot : look out
Lazy person can never ............... in life.
yalot : succeed
Just 'y Farue 3u sy ?
yalo : Justify

The earth ............... round the sun.
4l¢ : moves
Distribute the sweets ......ceeeuueee the two children.

dlol : between
hawker 20gl Yy aoe 13 51 s4l &9 ?
¥dlél : pedlar

She walks .....ccceeeeee. the bank of the river.
¥dlél : along
The bag is ............... heavy that I can ............... carry it

Yalyt : so, hardly

Some of the great leaders have passed away in accident. (Put the word near in meaning)
yalel : died

When we visited Kashmir. We had a ............... look. (Put the proper form of ‘Serenity’)
¥dlél : serene

Mr. Baxi requested the Bank Manager ............... getting loan for a car.

dlel : with a view to

The construction company of Shri Dinesh Agarwal................ the bridge at Vastrapur for several
months.

dlél : has been building
The light ............... while I was reading.

dlel - went out
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When Mr. Raval came to the school in 1995. Mr. Parmar ............... already ............... there for
five years.

4dl4 - had, been teaching

He thanked me for what I ............... .

¥dlél : had done

I bought ............... horse, .......uu..... ox and ............... buffalo.
dlo:a, an, a

| swim across the river when I was young.
¥dlol - could

Make haste ............... you will be late.

ydlo : or

The pen is .......uueeeees than the sword.

¥dlél : mightier
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137, equatl 21 oyt dva [Foiusg) dURosu »10i's g2 8l ¢, 401, 2,3, 4,5, 8,13,21, 34,55, x, .....
il x Al 54a seel slu ?
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